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सामाÛय Ǔनदȶश: 
1. इस Ĥæन पğ मɅ कुल 14 Ĥæन है, िजनको 3 खÖडɉ अ, ब और स मɅ ͪवभािजत ͩकया गया है| 

2. खंड अ मɅ 2 अंकɉ के 6 Ĥæन हɇ। दो Ĥæनɉ मɅ आंतǐरक ͪवकãप Ǒदए गए हɇ।  

3. खंड ब मɅ 3  अंकɉ के 4 Ĥæन हɇ। एक Ĥæन मɅ आंतǐरक ͪवकãप Ǒदया गया है। 

4. खंड स मɅ 4  अंकɉ के 4 Ĥæन हɇ। एक Ĥæन मɅ आंतǐरक ͪवकãप Ǒदया गया है।  

5. कैलकुलेटर के Ĥयोग कȧ अनुमǓत नहȣं है| 
 

General Instructions: 
1. The question paper consists of 14 questions divided into 3 sections A, B, C.  
2. Section A comprises of 6 questions of 2 marks each. Internal choice has been provided 

in two questions.  
3. Section B comprises of 4 questions of 3 marks each. Internal choice has been provided 

in one question.  
4. Section C comprises of 4 questions of 4 marks each. An internal choice has been 

provided in one question. It contains two case study-based questions. 
5. Use of calculators is not permitted. 

 

 खंड - अ  
SECTION – A 

 

Ĥ. स. 
Q. No. 

 अंक 
Marks 

 

1 घनाभ के आकार का एक टɇक है िजसकȧ लंबाई 20 मीटर है। यǑद इसमɅ से 18 घन मीटर 

पानी Ǔनकाल Ǒदया जाए तो पानी का èतर 15 सɅटȣमीटर नीचे चला जाता है। टɇक कȧ चौड़ाई 

£ात कȧिजए। 

 

2 



A tank is in the form of a cuboid whose length is 20 metre. If 18 cubic metre water is 

removed from it the water level goes down by 15 centimetre. Find the width of the 

tank. 

अथवा / OR 

एक गोले का आयतन £ात कȧिजए िजसका पçृठȤय ¢ेğफल 616 वग[ सेमी है।  

Find the volume of a sphere whose surface area is 616 sq. cm. 
 

2 x = – 3 पर बहुपद 2x + 5 का मान £ात कȧिजए।  

Find the value of the polynomial 2x + 5 at x = – 3. 

 

2 

 

3 एक जोकर कȧ टोपी एक लंब वƣृीय शंकु के आकार कȧ है, िजसके आधार कȧ ǒğÏया 7 सेमी 

और ऊंचाई 24 सेमी है। इसी Ĥकार कȧ 10 टोͪपयाँ बनाने के ͧलए आवæयक शीट का ¢ेğफल 

£ात कȧिजए। 

A joker’s cap is in the shape of a right circular cone with base radius 7 cm and height 

24 cm. Find the area of sheet required for 10 such caps. 

 

2 

 

4 ͧसɮध कȧिजए ͩक "ͩकसी समांतर चतुभु[ज का एक ͪवकण[ उसे दो सवाɍगसम ǒğभुजɉ मɅ 

ͪवभािजत करता है"।  

Prove that “A diagonal of a parallelogram divides it into two congruent triangles”. 

 

2 

 

5 ABCD एक चĐȧय चतुभु[ज है िजसके ͪवकण[ एक ǒबदं ु E पर ĤǓतÍछेद करते हɇ। यǑद 

∠DBC = 70° और ∠BAC = 30° हो, तो ∠BCD £ात कȧिजए। 

 

ABCD is a cyclic quadrilateral whose diagonals intersect at a point E. If ∠DBC = 70°, 

∠BAC = 30°. Find ∠BCD. 

अथवा / OR 

ͧसɮध कȧिजए ͩक वƣृ कȧ समान जीवाएँ कɅ ġ पर समान कोण अंतǐरत करती हɇ।  

Prove that equal chords of a circle subtend equal angles at the centre. 

 

2 



 

6 यǑद एक गोले और एक ठोस घन का पçृठȤय ¢ेğफल समान होता है तो उनके आयतन का 

अनुपात £ात कȧिजए। 

If a sphere and a solid cube have the same surface area then find the ratio of their 

volumes. 

 

2 

 खंड – ब 
SECTION – B 

 

 

7 2t2 – t – 10 के गुणनखंड £ात कȧिजए।  

Find the factors of 2t2 – t – 10.  

 

3 

 

8 ABCD एक आयत है िजसमɅ P, Q, R और S Đमशः भुजाओं AB, BC, CD और DA के 

मÚय-ǒबदं ुहɇ। दशा[इए ͩक चतुभु[ज PQRS एक समचतुभु[ज है। 

ABCD is a rectangle and P, Q, R and S are mid-points of the sides AB, BC, CD and 

DA respectively. Show that the quadrilateral PQRS is a rhombus. 

अथवा / OR 

दȣ गई आकृǓत मɅ समांतर चतुभु[ज ABCD के ͪवकण[ BD पर दो ǒबदं ुP और Q इस Ĥकार 

िèथत हɇ ͩक DP = BQ है। दशा[इए ͩक APCQ एक समांतर चतुभु[ज है। 

 

In parallelogram ABCD, two points P and Q are taken on the diagonal BD such that  

DP = BQ. Show that APCQ is a parallelogram. 

 

3 

 

9 ቀ
ଵ

ସ
𝑎 −

ଵ

ଶ
𝑏 + 1ቁ

ଶ

 को Ĥसाǐरत Ǿप मɅ ͧलͨखए।  

Write ቀଵ
ସ
𝑎 −

ଵ

ଶ
𝑏 + 1ቁ

ଶ

in the expanded form.    

 

3 

 

10 1.5 मी लंबे एक बेलनाकार रोलर का åयास 70 सेमी है। 50 मी X 33 मी माप वाले खले 

के मैदान को समतल करने के ͧलए यह ͩकतने चÈकर लगाएगा?  

A cylindrical roller 1.5 m long has a diameter of 70 cm. How many revolutions will it 

make to level a playground measuring 50 m X 33 m? 

 

 

3 



 खंड – स 
SECTION – C 

 

 

11 बहुपद x3 – 6x2 + 11 x – 6 के गुणनखंड £ात कȧिजए। 

Factorize the polynomial x3 – 6x2 + 11 x – 6. 

अथवा / OR 

उपयÈुत सव[सͧमका का Ĥयोग करते हुए Ǔनàनͧलͨखत का मान £ात कȧिजए:-  

Find the value of the following by using suitable identity:  

(i)         (999)3    

(ii)         103 × 107 

 

4 

 

12 एक ǒğभुज PQR कȧ रचना कȧिजए, िजसमɅ QR = 6 सेमी, ∠Q = 600 और 

PR - PQ = 2 सेमी हो।  

Construct a triangle PQR in which QR = 6 cm, ∠Q = 600 and PR – PQ = 2 cm. 

 

4 

 

13 5 मीटर ǒğÏया वाले वƣृ कȧ पǐरसीमा पर तीन लड़ͩकयाँ रेशमा, सलमा और मनदȣप Đमशः 

ǒबÛद ुR, S और M पर खड़ी होकर आपस मɅ खले रहȣ हɇ जैसा ͩक ͬचğ मɅ Ǒदखाया गया है। 

रेशमा एक गɅद को सलमा के पास, सलमा मनदȣप के पास और मनदȣप रेशमा के पास फɅ कती 

है। यǑद रेशमा और सलमा के बीच तथा सलमा और मनदȣप के बीच Ĥ×येक कȧ दरूȣ 6 मीटर 

है व O वƣृ का कɅ ġ है तो Ǔनàनͧलͨखत Ĥæनो के उƣर दȣिजए: 

 

Three girls Reshma, Salma and Mandeep are playing with each other standing at 

points R, S and M respectively on the boundary of a circle of radius 5 m as shown in 

the figure. Reshma throws a ball to Salma, Salma to Mandeep and Mandeep to 

Reshma. If the distance between Reshma and Salma and between Salma and 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Mandeep is 6 meters each and O is the center of the circle, then answer the following 

questions: 

(i) रेशमा और मनदȣप के बीच कȧ दरूȣ £ात कȧिजए। 
Find the distance between Reshma and Mandeep.  

(ii) लंबाई OE का मान £ात कȧिजए। 
Find the value of length OE. 

 
 
 
2 

 
2 

 

14 बीमा ͪवƣीय नुकसान से सुर¢ा का एक साधन है। यह जोͨखम Ĥबंधन का एक Ǿप है, िजसका 
मÉुय Ǿप से अǓनिæचत नुकसान होने पर एक आकिèमक जोͨखम के ͨखलाफ बचाव के ͧलए 
उपयोग ͩकया जाता है। बीमा जागǾकता के ͧलए, एक बीमा कंपनी ने एक ͪवशेष शहर मɅ 
2000 Ĝाइवरɉ को याǺिÍछक Ǿप से चुना, उनकȧ उĨ और दघु[टनाओं के बीच संबंध खोजɅ। ĤाÜत 
डेटा Ǔनàन ताͧलका मɅ Ǒदया गया है: 
Insurance is a means of protection from financial loss. It is a form of risk management, 
primarily used to hedge against the risk of a contingent on uncertain loss. For 
insurance awareness, an insurance company selected 2000 drivers at random in a 
particular city, find a relationship between age and accidents. The data obtained is 
given in the following table: 

Ĝाइवरɉ कȧ आयु 
(वषɟ मɅ) 

Age of drivers 
(in years) 

एक साल मɅ दघु[टनाओ ंकȧ सÉंया  
Number of accidents in one year 

0 1 2 3 
3 से अͬधक 

More than 3 

18 – 29 440 160 110 61 35 

30 – 50 505 125 60 22 18 

50 से ऊपर 
Above 50 

306 45 35 15 9 

 Ǔनàनͧलͨखत Ĥæनो के उƣर दȣिजए: 
Answer the following questions: 

(i) शहर से याǺिÍछक Ǿप से चुने गए Ĝाइवर के ͧलए 18 - 29 वष[ कȧ आयु और एक 
वष[ मɅ ठȤक 3 दघु[टनाएं होने कȧ ĤाǓयकता £ात कȧिजए। 
Find the probability for a driver chosen at random from the city being          
18 – 29 years of age and having exactly 3 accidents in one year. 

(ii) शहर से याǺिÍछक Ǿप से चुने गए Ĝाइवर के ͧलए एक वष[ मɅ कोई दघु[टना न 
होने कȧ ĤाǓयकता £ात कȧिजए। 
Find the probability for a driver chosen at random from the city having no 
accidents in one year. 
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